
INSTRUCTION MANUAL

Neomounts B.V.
Wateringweg 62, 2031 EJ Haarlem
The Netherlands | neomounts.com
 

Measuring unit: mm

LED-VW1000BLACK
 

IT

EN 

NL 

DE 

FR 

 

ES 

PT 

DK 

Video wall mount

Video wandsteun

Videowand-Halterung

Support mural pour mur d'images

Supporto parete video wall

Soporte de video wall

Suporte de video wall

Video vægbeslag

NO 

SE 

FI 

PL 

CS 

SK 

RO 

Videovegg feste

Videoväggfäste

Videoseinäteline

Uchwyt do sciany video

Držák na videostěny

Držiak na videosteny

Suport pentru video wall

380

10
5

100~300

56~171

10
0~

30
038

0

40
7

-3°
+3°



LED-VW1000BLACK

PARTS

Ensure correct alignment using a spirit level
Zorg voor een juiste uitlijning met behulp van een
waterpas
Stellen Sie die korrekte Ausrichtung mit einer Wasser-
waage sicher
Assurer un alignement correct à l'aide d'un niveau à bulle
Assicurare un allineamento corretto utilizzando una livella 
di bolla
Asegure la alineación correcta utilizando un nivel de bur-
buja
Assegurar o alinhamento correto utilizando um nível de 
bolha
Zapewnij prawidłowe wyrównanie za pomocą poziomicy

EN
NL

DE

FR
IT

ES

PT

PL

Install the wall plate on a solid brick or concrete wall
Bevestig de muurbeugel aan een stevige stenen of
betonnen muur
Installieren Sie die Wandplatte an einer soliden Ziegel-
oder Betonwand
Installez la plaque murale sur un mur de brique ou de 
béton
Installare la piastra di parete su un muro di mattoni o
cemento
Fije el soporte de pared a una piedra sólida o muro de
hormigón
Instale a placa do suporte de parede numa parede sólida 
de tijolo ou betão
Zamontuj płytę ścienną do ściany z cegły lub betonu

EN
NL

DE

FR

IT

ES

PT

PL

A. (x2) B. (x1) C. (x1)

M-F. (x4) M-G.
(x8)

M-H.
(x8)

W-A. (x6) W-B. (x6) W-C.
(x6)

D. (x2) E. (x2) G. (x1)F. (x2)

M-A. M5x14
(x4)

M-B. M6x14
(x4)

M-C. M6x30
(x4)

M-D. M8x30
(x4)

M-E. M8x50
(x4)

0-50 kg200x200 -
600x400 mm

W-A

W-C

5,6-21,5 cm

ASTEP 1

BSTEP 1

W-B

Tool Drill



Attach the adjustment knob
Bevestig de stelknop
Fixieren Sie den Stellknopf
Fixer le bouton de réglage
Fissare la manopola di regolazione
Fije el botón de ajuste
Fixar o botão de regulação
Zamocuj pokrętło regulacyjne

EN
NL
DE
FR
IT
ES
PT
PL

Install the adapter brackets
Installeer de adaptersteunen
Installieren Sie die Adapterhalterungen
Installez les supports d'adaptation
Installare le staffe di adattamento 
Instale los soportes adaptadores
Instalar os suportes do adaptador
Zainstaluj wsporniki adaptera

EN
NL
DE
FR
IT
ES
PT
PL

STEP 3

* Not Included

STEP 2

M-A

M-B

M-F

D



Use spacers if necessary
Gebruik afstandhouders indien nodig
Montage der Distanzscheiben wenn nötig
Utilisez des entretoises si nécessaire
Utilizzare distanziatori, se necessario
Use espaciadores si es necesario
Utilize separadores se necessário
Użyj dystansów jeśli jest taka potrzeba

EN
NL
DE
FR
IT
ES
PT
PL

Attach the screen to the bracket and level it
Bevestig het scherm aan de beugel en lijn deze uit
Befestigen Sie den Bildschirm an der Halterung und 
richten Sie ihn aus
Fixer l'écran au support et le niveler
Fissare lo schermo alla staffa e livellarlo
Fije la pantalla al soporte y nivélela
Fixar o ecrã ao suporte e nivele-o
Przymocuj ekran do wspornika i wypoziomuj go

EN
NL
DE

FR
IT
ES
PT
PL

STEP 4

* Not Included

OPTION

M-C

M-F

M-F M-F

M-GM-G
M-G

M-F

M-H

M-H

M-G
M-H

M-H

M-E M-E M-E

M-F

M-G

M-H

M-F

M-D M-C M-D M-C M-D

G



Adjust the mount to the desired position and attach a 
padlock (not included) if desired 
Stel de steun in op de gewenste positie en bevestig een 
hangslot (niet inbegrepen) indien gewenst
Positionieren Sie die Halterung in die gewünschte Position 
und bringen Sie je nach Wunsch ein Vorhängeschloss 
(nicht im Lieferumfang enthalten) an
Ajustez le support à la position souhaitée et fixez un 
cadenas (non fourni) si vous le souhaitez
Regolare il supporto nella posizione desiderata e 
collegare un lucchetto (non incluso) come desiderato 
Ajuste el soporte a la posición deseada y coloque un 
candado (no incluido) como desee
Ajuste o suporte na posição desejada e coloque um 
cadeado (não incluído) conforme desejado
Dostosuj pozycję uchwytu do twoich wymagań i 
przymocuj kłódkę (brak w zestawie) zgodnie z 
życzeniem 

EN

NL

DE

FR

IT

ES

PT

PL

Loosen or tighten the adjusting knob if necessary
Draai de stelknop indien nodig losser of vaster
Drehen Sie den Einstellknopf bei Bedarf lockerer 
oder fester
Desserrez ou serrez le bouton de réglage si néces-
saire
Allentare o stringere la manopola di regolazione, se 
necessario
Afloje o apriete el botón de ajuste si es necesario
Soltar ou apertar o botão de ajuste, se necessário
W razie potrzeby poluzować lub dokręcić pokrętło 
regulacyjne

EN
NL
DE

FR

IT

ES
PT
PL

OPTION

STEP 5

G



Install the video wall
Installeer de videowall
Installieren Sie die Videowand
Installez le mur d’images
Installare il videowall
Instale el videowall
Instalar o videowall
Zainstaluj ścianę wideo

EN
NL
DE
FR
IT
ES
PT
PL

Connect multiple brackets
Verbind meerdere beugels met elkaar
Verbinden Sie mehrere Halterungen
Connecter plusieurs supports
Collegare più staffe
Conecte varios soportes
Ligar vários suportes
Łączenie wielu wsporników

EN
NL
DE
FR
IT
ES
PT
PL

OPTION

OPTION A

B

F E





25.07


